EUROPEAN JOURNAL OF PURE AND APPLIED MATHEMATICS
Vol. 10, No. 3, 2017, 506-515
ISSN 1307-5543 - www.ejpam.com
Published by New York Business Global


# On identities for sequences of binomial sums with the terms of sequences $\left\{u_{k n}\right\}$ and $\left\{v_{k n}\right\}$ 

Neşe Ömür ${ }^{1, *}$, Cemile Duygu Şener ${ }^{1}$<br>${ }^{1}$ Mathematics Department, Science and Art Faculty, Kocaeli University, Turkey


#### Abstract

In this paper, considering technique used in [4], and the sequences $\left\{u_{k n}\right\}$ and $\left\{v_{k n}\right\}$, we derive the sequences $\left\{g_{k n}\right\}$ and $\left\{h_{k n}\right\}$. Also with the aid of generating matrix for the terms of these sequences for a positive integer $k$, we derive some combinatorial identities for the sequence $\left\{g_{k n}\right\}$.


2010 Mathematics Subject Classifications: 11B39, 05A10, 05A15, 05A19
Key Words and Phrases: Binomial sums, generalized Fibonacci numbers, recurrence relation

## 1. Introduction

Matrix methods are very convenient for deriving certain of linear recurrence sequences. Some authors have used matrix methods of other methods to derive some identities, combinatorial representations of linear recurrence relations etc $[3,6,10,13,14,15,16,8,9]$.

In [13], the author gives a new formula for the nth power of an arbitrary $2 \times 2$ matrix and derive various matrix identities and formulae for the nth power of particular matrices to obtain various combinatorial identities. The generalized second order sequences $\left\{u_{n}\right\}$ and $\left\{v_{n}\right\}$, are defined for $n>0$ and nonzero integer numbers $p, q$ by

$$
u_{n+1}=p u_{n}+q u_{n-1} \text { and } v_{n+1}=p v_{n}+q v_{n-1}
$$

in which $u_{0}=0, u_{1}=1$ and $v_{0}=2, v_{1}=p$, respectively. When $p=q=1, u_{n}=F_{n}$ (the $n$th Fibonacci number) and $v_{n}=L_{n}$ (the $n$th Lucas number).

If $\alpha$ and $\beta$ are the roots of equation $x^{2}-p x-q=0$, the Binet formulae of the sequences $\left\{u_{n}\right\}$ and $\left\{v_{n}\right\}$ have the form

$$
u_{n}=\frac{\alpha^{n}-\beta^{n}}{\alpha-\beta} \text { and } v_{n}=\alpha^{n}+\beta^{n}
$$

[^0]respectively. From [7], E. Kıliç and P. Stanica derived the following recurrence relations for the sequences $\left\{u_{k n}\right\}$ and $\left\{v_{k n}\right\}$ for $k \geq 0, n>0$. It is clearly that
$$
u_{k(n+1)}=v_{k} u_{k n}+(-1)^{k+1} q^{k} u_{k(n-1)} \text { and } v_{k(n+1)}=v_{k} v_{k n}+(-1)^{k+1} q^{k} v_{k(n-1)},
$$
where the initial conditions of the sequences $\left\{u_{k n}\right\}$ and $\left\{v_{k n}\right\}$ are $0, u_{k}$, and $2, v_{k}$, respectively. The Binet formulae of the sequences $\left\{u_{k n}\right\}$ and $\left\{v_{k n}\right\}$ are given by
$$
u_{k n}=\frac{\alpha^{k n}-\beta^{k n}}{\alpha-\beta} \text { and } v_{k n}=\alpha^{k n}+\beta^{k n},
$$
respectively. From the Binet formulas, one can see that $u_{-k n}=(-1)^{k n+1} u_{k n}$ and $u_{2 k n}=$ $u_{k n} v_{k n}$.

In [1] and [2], the authors obtained some new identities for the sequence $\left\{u_{n}\right\}$. For example, for $n \geq 1$,

$$
\sum_{k=0}^{n}\binom{n}{k}\left(\frac{\alpha}{q}\right)^{k} u_{k}=\frac{\alpha}{q}\left(\frac{p \alpha}{q}+2\right)^{n-1}
$$

and

$$
\sum_{k=0}^{n}\binom{n}{k}\left(\frac{\beta}{q}\right)^{k} u_{k}=\frac{\beta}{q}\left(\frac{p \beta}{q}+2\right)^{n-1}
$$

Let $\left\{a_{k}\right\}$ and $\left\{b_{k}\right\}$ be sequences with the property that $a_{k}$ is the finite difference of $b_{k}$, that is, $a_{k}=\Delta b_{k}:=b_{k+1}-b_{k}$, for $k \geq 0$. We take

$$
\begin{equation*}
g_{n}=\sum_{k=0}^{n}\binom{n}{k} a_{k} \text { and } h_{n}=\sum_{k=0}^{n}\binom{n}{k} b_{k} . \tag{1}
\end{equation*}
$$

In [11], Komatsu obtained several sequences of binomial sums of generalized Fibonacci numbers. For example,

$$
\sum_{k=0}^{n}\binom{n}{k} c^{k} u_{k}=r_{n}(n \geq 0)
$$

satisfies the recurrence relation

$$
r_{n}=(a c+2) r_{n-1}+\left(b c^{2}-a c-1\right) r_{n-2} \quad(n \geq 2)
$$

with $r_{0}=0, r_{1}=c$ and

$$
\sum_{k=0}^{n}\binom{n}{k} c^{n-k} d^{k} u_{k}=\lambda_{n}(n \geq 0)
$$

satisfies the recurrence relation

$$
\lambda_{n}=(a d+2 c) \lambda_{n-1}+\left(b d^{2}-a c d-c^{2}\right) \lambda_{n-2} \quad(n \geq 2)
$$

with initial conditions $\lambda_{0}=0$ and $\lambda_{1}=d$, where $c, d$ are nonzero real numbers.

In [4], the authors obtain some binomial summation identities of sequences $\left\{r_{n}\right\}$ and $\left\{\lambda_{n}\right\}$ :

$$
\begin{gathered}
\sum_{k=0}^{2 n}\binom{2 n}{k}(-1)^{k}\left(b c^{2}-a c-1\right)^{2 n-k} r_{2 k+1}=(a c+2)^{2 n} r_{2 n+1}, \\
\sum_{k=0}^{2 n}\binom{2 n}{k}(-1)^{k}\left(b c^{2}-a c-1\right)^{2 n-k} r_{2 k}=(a c+2)^{2 n} r_{2 n} .
\end{gathered}
$$

## 2. Some Results

In this section, firstly, we define sequences $\left\{g_{k n}\right\}$ and $\left\{h_{k n}\right\}$ and then derive some new combinatorial identities for these sequences.

Lemma 1. For $n \geq 0$, the sum $\sum_{i=0}^{n}\binom{n}{i} c^{k i} u_{k i}=g_{k n}$ satisfies the recurrence relation

$$
g_{k(n+2)}=\left(c^{k} v_{k}+2\right) g_{k(n+1)}-\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) g_{k n},
$$

where initial conditions $g_{0}=0, g_{k}=c^{k} u_{k}$.
Proof. Considering $a_{k n}=c^{k n} u_{k n}$ and $b_{k n}=c^{k(n+1)} u_{k(n+1)}$ in (1), the proof is completed as similar to proof technique in [11].

Lemma 2. The generating function $U(z)$ of $\sum_{i=0}^{n}\binom{n}{i} c^{k i} u_{k i}=g_{k n}$ is given by

$$
U(z)=\frac{z^{k} g_{k}}{1-\left(c^{k} v_{k}+2\right) z^{k}+\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) z^{2 k}} .
$$

Proof. Observed that

$$
\begin{aligned}
U(z) & =g_{0} z^{0}+g_{k} z^{k}+g_{2 k} z^{2 k}+\ldots+g_{k n} z^{k n}+\ldots \\
z^{k} U(z) & =g_{0} z^{k}+g_{k} z^{2 k}+g_{2 k} z^{3 k}+\ldots+g_{k(n-1)} z^{k n}+\ldots \\
z^{2 k} U(z) & =g_{0} z^{2 k}+g_{k} z^{3 k}+g_{2 k} z^{4 k}+\ldots+g_{k(n-2)} z^{k n}+\ldots
\end{aligned}
$$

From here, we have

$$
\begin{aligned}
& U(z)\left(1-\left(c^{k} v_{k}+2\right) z^{k}-\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) z^{2 k}\right) \\
= & z^{k} g_{k}+\sum_{i=2}^{\infty}\left(g_{k i}-\left(c^{k} v_{k}+2\right) g_{k(i-1)}+\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) g_{k(i-2)}\right) z^{k i} .
\end{aligned}
$$

From the recurrence relation in Lemma 1, we complete the proof for $U(z)$.
Similarly, the proofs of the following lemmas are given as the proofs of Lemmas 1 and 2.

Lemma 3. For $n \geq 0$, the sum $\sum_{i=0}^{n}\binom{n}{i} c^{k i} v_{k i}=h_{k n}$ satisfies the recurrence relation

$$
h_{k(n+2)}=\left(c^{k} v_{k}+2\right) h_{k(n+1)}-\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) h_{k n}
$$

where initial conditions $h_{0}=2, h_{k}=2+c^{k} v_{k}$.
Lemma 4. The generating function $V(z)$ of $\sum_{i=0}^{n}\binom{n}{i} c^{k i} v_{k i}=h_{k n}$ is given by

$$
V(z)=\frac{z^{k}\left(h_{k}-2\left(c^{k} v_{k}+2\right)\right)+2}{1-\left(c^{k} v_{k}+2\right) z^{k}+\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) z^{2 k}}
$$

If $c^{k} \alpha^{k}+1$ and $c^{k} \beta^{k}+1$ are the roots of equation

$$
x^{2}-\left(c^{k} v_{k}+2\right) x+\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)=0
$$

Binet formulae of sequences $\left\{g_{k n}\right\}$ and $\left\{h_{k n}\right\}$ are

$$
g_{k n}=\frac{\left(c^{k} \alpha^{k}+1\right)^{n}-\left(c^{k} \beta^{k}+1\right)^{n}}{\alpha-\beta} \text { and } h_{k n}=\left(c^{k} \alpha^{k}+1\right)^{n}+\left(c^{k} \beta^{k}+1\right)^{n}
$$

respectively. It is clear that

$$
\begin{equation*}
g_{-k n}=-\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)^{-n} g_{k n}, \quad g_{2 k n}=g_{k n} h_{k n} \tag{2}
\end{equation*}
$$

and $h_{-k n}=\left((-q)^{k} c^{2 k}+c^{k} v_{k}+1\right)^{-n} h_{k n}$.
Now, we define a $2 \times 2$ matrix $A$ and then we give some new results for the sequences $\left\{g_{k n}\right\}$ and $\left\{h_{k n}\right\}$ by matrix methods.

Consider the $2 \times 2$ matrix $A$ as follows:

$$
A=\left[\begin{array}{cc}
c^{k} v_{k}+2 & -\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) \\
1 & 0
\end{array}\right]
$$

The eigenvalues of the matrix $A$ are

$$
\lambda_{1}=c^{k} \alpha^{k}+1, \quad \lambda_{2}=c^{k} \beta^{k}+1
$$

Also $\lambda_{1}, \lambda_{2}$ are distinct. Let $V$ be the $2 \times 2$ matrix defined as follows:

$$
V=\left[\begin{array}{cc}
c^{k} \alpha^{k}+1 & c^{k} \beta^{k}+1 \\
1 & 1
\end{array}\right]
$$

One can easily verify that

$$
A V=V D_{1}
$$

where $D_{1}=\operatorname{diag}\left(\lambda_{1}, \lambda_{2}\right)$. Since $\operatorname{det} V \neq 0$, the matrix $V$ invertible. So, we write

$$
D_{1}=V^{-1} A V
$$

Thus, the matrix $A$ is similar to the diagonal matrix $D_{1}$. We obtain

$$
\begin{aligned}
A^{n} & =V D_{1}^{n} V^{-1} \\
& =\frac{1}{c^{k} u_{k}}\left[\begin{array}{cc}
g_{k(n+1)} & -\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) g_{k n} \\
g_{k n} & -\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) g_{k(n-1)}
\end{array}\right]
\end{aligned}
$$

Clearly, the matrix $A^{n}$ satisfies the recurrence relation: for $n>0$,

$$
A^{n+1}=\left(c^{k} v_{k}+2\right) A^{n}-\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) A^{n-1}
$$

where initial conditions $A^{0}=0, A^{1}=A$.
Also by matrix methods, it is clearly that

$$
A^{n}\left[\begin{array}{l}
g_{k}  \tag{3}\\
g_{0}
\end{array}\right]=\left[\begin{array}{c}
g_{k(n+1)} \\
g_{k n}
\end{array}\right]
$$

For $n \geq 0$, if we consider the fact that $\operatorname{det}\left(A^{n}\right)=(\operatorname{det} A)^{n}$, then we obtain the Cassini identity

$$
g_{k n}^{2}-g_{k(n+1)} g_{k(n-1)}=\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)^{n-1} g_{k}^{2}
$$

For example, for $k=c=p=q=1$, we write $F_{2 n}^{2}-F_{2 n+1} F_{2 n-1}=-1$ ( see page 74, [12]).
Similarly

$$
\begin{aligned}
A^{-n}= & \frac{1}{c^{k} u_{k}\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)^{n}} \times \\
& {\left[\begin{array}{cc}
-\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) g_{k(n-1)} & \left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) g_{k n} \\
-g_{k n} & g_{k(n+1)}
\end{array}\right] }
\end{aligned}
$$

and

$$
A^{-n}\left[\begin{array}{l}
g_{k}  \tag{4}\\
g_{0}
\end{array}\right]=\left[\begin{array}{c}
g_{k(-n+1)} \\
g_{-k n}
\end{array}\right]
$$

By considering sequence $\left\{h_{k n}\right\}$, we write the simple relation between the vector of sequence $\left\{h_{k n}\right\}$ and generating matrix of sequence $\left\{g_{k n}\right\}$ :

$$
\left[\begin{array}{c}
h_{k(n+1)} \\
h_{k n}
\end{array}\right]=\frac{1}{c^{k} u_{k}}\left[\begin{array}{cc}
g_{k(n+1)} & -\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) g_{k n} \\
g_{k n} & -\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) g_{k(n-1)}
\end{array}\right]\left[\begin{array}{c}
c^{k} v_{k}+2 \\
2
\end{array}\right]
$$

Theorem 1. For all $n, m \in \mathbb{Z}$, we have

$$
\begin{equation*}
c^{k} u_{k} g_{k(n+m)}=g_{k n} g_{k(m+1)}-\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) g_{k(n-1)} g_{k m} . \tag{5}
\end{equation*}
$$

Proof. After some simplications, $(2,1)-$ entries of $A^{n} A^{m}=A^{n+m}$ give the conclusion.
For example, when $n=m$ in (5), we have

$$
c_{k} u_{k} g_{2 k n}=g_{k n} g_{k(n+1)}-\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) g_{k n} g_{k(n-1)},
$$

or

$$
c_{k} u_{k} h_{k n}=g_{k(n+1)}-\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) g_{k(n-1)} .
$$

Theorem 2. For all $n \in \mathbb{Z}$, we have

$$
\begin{aligned}
& c^{k} u_{k}\left(g_{k(2 n+1)}+g_{k(2 n-1)}\right) \\
= & g_{k(n+1)}^{2}-\left(c^{2 k}(-q)^{k}+c^{k} v_{k}\right) g_{k n}^{2}-\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) g_{k(n-1)}^{2}, \\
& c^{k} u_{k}\left(g_{k(2 n+1)}-g_{k(2 n-1)}\right) \\
= & g_{k(n+1)}^{2}-\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+2\right) g_{k n}^{2}+\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) g_{k(n-1)}^{2} .
\end{aligned}
$$

Proof. Considering the $(1,1)$ and $(2,2)$-entries of the matrix equation $A^{2 n}=\left(A^{n}\right)^{2}$, we have

$$
\begin{align*}
& g_{k(n+1)}^{2}-\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) g_{k n}^{2}=c^{k} u_{k} g_{k(2 n+1)},  \tag{6}\\
& g_{k n}^{2}-\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) g_{k(n-1)}^{2}=c^{k} u_{k} g_{k(2 n-1)} . \tag{7}
\end{align*}
$$

By adding and substracting of (6) and (7) side by side, we have the conclusion.
Theorem 3. For $n>0$, we have

$$
g_{k n}=\sum_{t=0}^{n}\binom{n}{t}\left(c^{k} v_{k}+2\right)^{t}(-1)^{n-t}\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)^{-n+t} g_{k(n-t)} .
$$

Proof. From the matrix relation, we write

$$
\begin{align*}
A^{n} & =\left(\left(c^{k} v_{k}+2\right) I-\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) A^{-1}\right)^{n} \\
& =\sum_{t=0}^{n}\binom{n}{t}\left(c^{k} v_{k}+2\right)^{t}\left(c^{2 k}(-q)^{k+1}-c^{k} v_{k}-1\right)^{n-t} A^{-(n-t)} . \tag{8}
\end{align*}
$$

Then equating (2,1)-entries of the equality (8), we get

$$
g_{k n}=\sum_{t=0}^{n}\binom{n}{t}\left(c^{k} v_{k}+2\right)^{t}(-1)^{n-t}\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)^{-n+t} g_{k(n-t)} .
$$

Theorem 4. For $n>0$, we have

$$
\begin{gathered}
\sum_{i=0}^{2 n}\binom{2 n}{i}\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)^{2 n-i} g_{k(2 i+1)}=\left(c^{k} v_{k}+2\right)^{2 n} g_{k(2 n+1)}, \\
\sum_{i=0}^{2 n}\binom{2 n}{i}\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)^{2 n-i} g_{2 k i}=\left(c^{k} v_{k}+2\right)^{2 n} g_{2 k n}
\end{gathered}
$$

Proof. The matrix $A^{2}$ is

$$
\left[\begin{array}{cc}
\left(c^{k} v_{k}+2\right)^{2}+q^{k}(-1)^{k+1} c^{2 k}-c^{k} v_{k}-1 & \left(c^{k} v_{k}+2\right)\left(q^{k}(-1)^{k+1} c^{2 k}-c^{k} v_{k}-1\right) \\
c^{k} v_{k}+2 & q^{k}(-1)^{k+1} c^{2 k}-c^{k} v_{k}-1
\end{array}\right]
$$

and the characteristic equation for $A^{2}$ is

$$
\begin{equation*}
\lambda\left(c^{k} v_{k}+2\right)^{2}=\left(\lambda+\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)\right)^{2} . \tag{9}
\end{equation*}
$$

From the Caley-Hamilton Theorem for $A^{2}$, we have

$$
A^{2}\left(c^{k} v_{k}+2\right)^{2}=\left(A^{2}+\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) I\right)^{2}
$$

Thus

$$
A^{2 n}\left(c^{k} v_{k}+2\right)^{2 n}=\left(A^{2}+\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right) I\right)^{2 n}
$$

By Binomial Theorem and (3), we have

$$
\begin{aligned}
\sum_{i=0}^{2 n}\binom{2 n}{i}\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)^{2 n-i} A^{2 i} & =A^{2 n}\left(c^{k} v_{k}+2\right)^{2 n} \\
\sum_{i=0}^{2 n}\binom{2 n}{i}\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)^{2 n-i}\left[\begin{array}{c}
g_{k(2 i+1)} \\
g_{2 k i}
\end{array}\right] & =\left(c^{k} v_{k}+2\right)^{2 n}\left[\begin{array}{c}
g_{k(2 n+1)} \\
g_{2 k n}
\end{array}\right],
\end{aligned}
$$

as claimed.
Theorem 5. For $n>0$, we have

$$
\begin{aligned}
\sum_{i=0}^{2 n}\binom{2 n}{i}(-1)^{i}\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)^{2 n-i} g_{k(2 i+1)} & =c^{2 k n}\left(v_{k}^{2}+4 q^{k}(-1)^{k+1}\right)^{n} g_{k(2 n+1)} \\
\sum_{i=0}^{2 n}\binom{2 n}{i}(-1)^{i}\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)^{2 n-i} g_{2 k i} & =c^{2 k n}\left(v_{k}^{2}+4 q^{k}(-1)^{k+1}\right)^{n} g_{2 k n}
\end{aligned}
$$

Proof. Writing $4 \lambda\left(q^{k}(-1)^{k+1} c^{2 k}-c^{k} v_{k}-1\right)$ to each side of (3), we write

$$
\begin{equation*}
\lambda c^{2 k}\left(v_{k}^{2}-4(-q)^{k}\right)^{2}=\left(\lambda+\left(q^{k}(-1)^{k+1} c^{2 k}-c^{k} v_{k}-1\right)\right)^{2} \tag{10}
\end{equation*}
$$

Similarly, using (10), as the proof of Theorem 1, the proof is completed.

Theorem 6. For $n>0$, we have

$$
\begin{gathered}
\sum_{i=0}^{2 n}\binom{2 n}{i}\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)^{i} g_{k(-2 i+1)}=\left(c^{k} v_{k}+2\right)^{2 n} g_{k(-2 n+1)}, \\
\sum_{i=0}^{2 n}\binom{2 n}{i}\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)^{i} g_{-2 k i}
\end{gathered}=\left(c^{k} v_{k}+2\right)^{2 n} g_{-2 k n} .
$$

Proof. The characteristic equation for $A^{-2}$ is

$$
\left(\lambda\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)+1\right)^{2}=\lambda\left(c^{k} v_{k}+2\right)^{2}
$$

From the Caley-Hamilton Theorem for $A^{-2}$, we have

$$
\left(A^{-2}\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)+1\right)^{2}=\left(c^{k} v_{k}+2\right)^{2} A^{-2}
$$

Thus

$$
\left(A^{-2}\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)+1\right)^{2 n}=\left(c^{k} v_{k}+2\right)^{2 n} A^{-2 n}
$$

By Binomial Theorem and (4), we have

$$
\begin{aligned}
\sum_{i=0}^{2 n}\binom{2 n}{i}\left((-q)^{k} c^{2 k}+c^{k} v_{k}+1\right)^{i} A^{-2 i} & =\left(c^{k} v_{k}+2\right)^{2 n} A^{-2 n} \\
\sum_{i=0}^{2 n}\binom{2 n}{i}\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)^{i}\left[\begin{array}{c}
g_{k(-2 i+1)} \\
g_{-2 k i}
\end{array}\right] & =\left(c^{k} v_{k}+2\right)^{2 n}\left[\begin{array}{c}
g_{k(-2 n+1)} \\
g_{-2 k n}
\end{array}\right] .
\end{aligned}
$$

Thus, the proof is completed.
Let $C$ be an arbitrary $2 \times 2$ matrix, $T$ and $D$ denote the trace and determinant of $C$, respectively. For the distinct eigenvalues $a$ and $b$ of matrix $C$, the following result can be found in $[5,10]$ :

## Lemma 5.

$$
z_{n}:=\frac{a^{n}-b^{n}}{a-b}=\frac{1}{2^{n-1}} \sum_{i=0}^{\lfloor(n-1) / 2\rfloor}\binom{n}{2 i+1} T^{n-2 i-1}\left(T^{2}-4 D\right)^{i},
$$

then $C^{n}=z_{n} C-z_{n-1} D I_{2}$, where $I_{2}$ is the identity matrix of order 2 .
As a consequence of Lemma 5, we obtain that

$$
2^{n-1} g_{k n}=u_{k} c^{k} \sum_{i=0}^{\lfloor(n-1) / 2\rfloor}\binom{n}{2 i+1}\left(c^{k} v_{k}+2\right)^{n-2 i-1}\left(c^{2 k} v_{k}^{2}-4 c^{2 k}(-q)^{k}\right)^{i}
$$

Let $w$ be a complex number such that $w^{2}+T w+D \neq 0, w \neq 0$. For a positive integer $n$,

$$
\begin{equation*}
C^{n}=\left(\frac{w D}{w^{2}+T w+D}\right)^{n} \sum_{t=0}^{2 n} \sum_{i=0}^{t}\binom{n}{i}\binom{n}{t-i}\left(\frac{D}{w^{2}}\right)^{i}\left(\frac{w}{D}\right)^{t} C^{t} \tag{11}
\end{equation*}
$$

Therefore we get the following result of equality (11).
Theorem 7. For $n>0$ and any complex number $w$ different from $0, c^{k} \alpha^{k}+1$ and $c^{k} \beta^{k}+1$,

$$
\begin{aligned}
g_{k n}= & \left(\frac{w\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)}{w^{2}+\left(c^{k} v_{k}+2\right) w+\left(c^{2 k}(-q)^{k}+c^{k} v_{k}+1\right)}\right)^{n} \times \\
& \sum_{t=0}^{2 n} \sum_{i=0}^{t}\binom{n}{i}\binom{n}{t-i}\left(q^{k}(-1)^{k} c^{2 k}+c^{k} v_{k}+1\right)^{i-t} w^{t-2 i} g_{k t}
\end{aligned}
$$

## References

[1] H. Belbachir, T. Komatsu and L. Szalay, Characterization of linear recurrences associated to rays in Pascal's triangle, AIP Conf. Proc. 1264 (2010), 90-99; Diophantine analysis and related fields 2000, Amer. Math. Phys., Melville, NY, 2010.
[2] H. Belbachir, T. Komatsu and L. Szalay, Linear recurrences associated to rays in Pascal's triangle and combinatorial identities, Math. Slovaca, 64(2) (2014), 287-300..
[3] N.H. Bong, Fibonacci matrices and matrix representation of Fibonacci numbers, Southeast Asian Bull. Math., 23 (1999), 357-374.
[4] C. K. Cook and T. Komatsu, Some identities for sequences ob binomial sums of generalized Fibonacci numbers, The Fibonacci Quarterly, 54(2) (2016), 105-111.
[5] P. Haukkanen, Binomial formulas for specially multiplicative functions, Math. Student 64(1-4) (1995), 155-161.
[6] V.E. Hoggat, Jr and M. Bicknell-Johnson, A matrix representation of Fibonacci identities for $F_{2 n k}$, A collection of Manuscripts related to the Fibonacci sequence, 18th Anniversary Volume, pp. 114-124, The Fibonacci Association, 1980.
[7] E. Kılıç and P.Stanica, Factorizations and representations of second order linear recurrences with indices in arithmetic progressions, Bulletin of the Mexican Mathematical Society 15(1) (2009), 23-36.
[8] E. Kılıç, N. Ömür and Y. Türker Ulutaş, Matrix representation of the second order recurrence $\left\{u_{k n}\right\}$, Ars combinatoria, 93 (2009), 181-190.
[9] E. Kılıç, I. Akkuş, N. Ömür and Y. Türker Ulutaş, A curious matrix-sum identity and certain finite sums identities, Asian-European Journal of Mathematics, 8(3) (2015), 1550047-1-10.
[10] J. Mc Laughlin, Combinatorial identities deriving from the nth power of a $2 \times 2$ matrix, Integers, 4 (2004) A19, 15pp.
[11] T. Komatsu, Some generalized Fibonacci identitis including powers and binomial coefficients, The Fibonacci Quarterly, 52(1) (2014), 50-60.
[12] T. Koshy, Fibonacci and Lucas Numbers with Applications, A Wiley-Interscience Publications, New York, 2001.
[13] J. Mc Laughlin, Combinatorial identities deriving from the $n$th power of a $2 \times 2$ matrix, Integers, 4 (2004) A19, 15pp.
[14] J. Mc Laughlin and N. J. Wyshinski, Further combinatorial identities deriving from the $n$th power of a $2 \times 2$ matrix, Discrete Applied Mathematics, 154(8) (2006), 13011308.
[15] M.E. Waddill, Matrices and generalized Fibonacci sequences, Fibonacci Quart. 12 (1974), 381-386.
[16] K.S. Williams, The $n$th power of a $2 \times 2$ matrix, Math. Mag. 65(5) (1992), 336.


[^0]:    *Corresponding author.
    Email addresses: neseomur@kocaeli.edu.tr (N. Ömür,) cemileduygusener@gmail.com (C.D.Şener)

